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1047.
SOCIOLOGY

(In all mediums)
Paper : Social Institution

Time : 3 Hours] [Max. Marks : 90

English Medium

Note :- (i) Attempt five questions in all. Question No. 1 is

compulsory. Attempt/owr questions, selecting one
•

question from each Unit,

(ii) All questions carry equal marks.

1. Answer any nine parts in 5-7 lines each,

(i) Two characteristics of Institution

(ii) Types of Institutions

(iii) Political Institutions
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(iv) Exogamy

2. (v) Single Parent Family

(vi) Consanguineal and Affinal kin
3

(vii) Two functions of State

(viii) Democracy

(ix) Division of Labour

(x) Polytheism

5 (xi) Sacred

(xii) Protestant Ethic 2x9=18

Unit-I

6
«,

2. Define Institutions. Discuss in detail Social

Institutions. 18

3. What are functions of Institutions ? Differentiate

between Institutions and Society. 18
.

Unit-II
.

4. Discuss various types of Family. Briefly discuss
<

changes taking place in family. 18

5. Discuss rules of mate selection. What are changes

taking place in marriage in India ? 18
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Unit-Ill

6. Discuss functions of Political Institutions. Write a
*

note on State. 18

7. Write short notes on the following :
•

(a) Property

(b) Division of Labour 9,9

Unit-IV
"

8. What are the main elements of Religion ? Discuss
«

functions of religion. 18

9. Discuss Durkheim and Weber's views on Religion. 18
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2.

18

3. ^rf ^ ^TT ^FFf f ? ̂ srf cTSTT ^7R 3 3RR

18

4. HK3K " R TRFRt "̂ T

18

5. ^T^ft ^ "̂  fWT ®id!^i< I ^TRcf

t ? 18

^ r — in

6.

RrlRsii<l 18

1. f̂ FT

(i)

(ii) ^R 1̂ F̂5R 9,9
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8.

9.

18

18
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(1) HHtl

(2) HHH

(3) d'rl

(4) fFB"

(5) fecxod1 H -̂fi-B7

(6) W H1" dlfdd1 PdWd1

(7) d^FT

(8)

(9)

(10)

(ii)

(12) 2x9=18
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